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Name: ARZA

Oneer of Regisbo Poliggons Homework

Find the area of the shaded figure.

1. Find the area of the shaded region

of the regular octagon ROADSIGN.
The apothem measures 20 cm.
Segment Gl=16.6cm. Round to the
nearest square centimeter.
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2. Find the area of the shaded
regular hexagonal donut. The
apothem and sides of the smaller
hexagon are half as long as the
apothem and sides of the larger
hexagon. a=6.9cm and r=8cm.
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Find the area of the shaded region, round to the nearest tenth.
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CCSS:
nd the area of each regular polygon. Round to the nearest tenth.
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